SECTION 1 (Short Questions) 125% of the moodule marks]
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This paper must be answered in English

This paper consists of Sections 1, 2and 3. Sections | and 3 both carry 25% of the module marks, and
Section 2 carries 50%.

Candidates are required to answer ALL questions from Sections 1 and 2, and ONE question from
Section 3. They are advised to spend 40 minutes on each of Sections 1 and 3, and 70 minutes on

Section 2,

The following is an extract from a Hong Kong newspaper dated 1.10.1993:

The small village of Luxin, about 2490 kilometres
southwest of Beijing, has had a bumper harvest.
Life is good. Families have ample stocks of flour
and money in their pockets.

But it was not always so. Twenly years ago,
according to a 74-year-old villager, there was the
spectre of hunger and cold, and sandstorms often
buried crops and wells,

The transformation of Luxin, with a population of
1800, is typical of changes in rural China since
the lata 1970s, when family-based farming
replaced the people’s commune production system
in a rural reform initialed by Chinese paramonnt
leader Deng Xizoping.

The villagers have worked with others in Xinle
county to shift huge sandhills that used to cover a
third of their land. Those who developed the new
land were given financial help through tax refief
and reduced prices for fertilizer, seed and diesel

oil. They have dug 72 motor-powered wetls to

Farmers report profits growing

irvigate their fand and receive & ‘how-to-do-it

newsletter’ twice a year to help them improve
their farming methods.

The per upiu- apnual income of Luxin village is
1,500 yusn. This is slightly more than the

national average in rural areas.

One in three Luxin houscholds owna either &
tractor or a truck. About two thirds have s
calour television, 95 % have a washing machine
and one third own a refrigesator.

Last year the villagers reaped 1,2 million
kilograms of wheat and corn — double the yield
in 1982,

Mechanisation of farm work has created a
surplus of manpower in yural China, More and
more people ars engaged in other trades. Luxin
has ten enterprises employing 200 people and
their camings account for one third of the
village's total income,

(@  Explain why the villagers of Luxin have becn able to accomplish s0 much in the last 5 yeacs.

The weighting of esch queation is indicated in brackets. It is a guide to the length of answer required, %)
which may vary from one 1o several paragrapha.
A SEPARATE ANSWER BOOK SIOULD BE USED FOR EACH SECTION, On the front cover of each (b)  Why is the development of rural enterprises 50 important lo China? . %)

answer book, the Section and Question Nos. MUST be inserted in the boxea provided. It is NOT necessary
to start each sub-question on a new page.

Candidaies are reminded that this subject emphasises the ability to present and support poinis of view in
a clear, concise and logical manner, rather than the ability to recite facta.
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2.

Consider the following statement:

Hong Kong-based companies and capital now employ more than three
million people in China, which is a JSigure greater than the whole of the
Hang Kong warkforce. At the same time, China's invesiment in Hong Kong
listed comparnies and property holdings is known to exceed HK370 bitlion,
making it one of the major Investors In Hong Kong.

In the light of the above situation, discuss Houg Kong's relationship with mainland China sfer 1997,

94-AS-LS {CT)-2

(11%)




SECTION 2 (Data Response Questions) 150% of the module marksl
Answer all the questions in Lhis section.

3. (@)  Consider the following information related lo China's population siatistics end govemnment binth
control policies: E

(Population stalistics).
fi) Tota} population {(urban and rural)
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(ii)  Other population statistics
1960 infant mortality rate: 150 per thousand
1991 infant mortality rate: 31.4 per thousand
{Government birth control policies)
Basic sim: to keep natural growth rate below 12.5 per thousand until the year 2000
Urban areas: limited to one child per couple
Rural areas: [irmited to two children per coupie
Exceplions: — ethnic minorities
- couples whose first child is handicapped
Key control mechanism: - birth control devices (€50 bitlion condoms and 60 million intrmuterine
devices are either distributed free to married couples through their
work places or are available through pharmacies)
- abortions if the couple already have the prescribed number of children

Looking at the data given above, explain whether you think China is making sufficient progress ip limiting
its population growth to ensure its future stability and prosperity. (15%)
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‘()  China’s population by age and sex: 1982 and 1990:
v o8¢ “ (¢)  Consider the following statement on China’s 1993 ‘Draft Law on Eugenics and Health Protection®

(hEARLIDHESE F M ES XK ) made by Chen Minzhang, Minister for Public Health of

1982 China, and the two comments on this draft law:
Age
s:-ss: {Chen Minzhang’s statement on the draft law)
75-79 - :
g The new law is needed 1o avoid new births of inferior-quality babies and heighten the standards
60-64 27 the whole population. China is in urgent need of this new Jaw to put a stop fo the
$5-50 ( -~ occurrence of abnormal births. If better controls had been in place, the bistha of some 10
50-54 | o4 mitlion of the disabled people in China could have been prevented.
4545 | .
" 40-44 [ 1] Under the draft law, methods such as deferral of marviage, abortion and sterilization would be
g +
35-39 ,ﬂ used t0 control the problem. People with ailments: like hepatitis, venereat diseases, hereditary
30-34 ,/ _ diseases or mental illness would be banmed from marrying until cured. Pregnant women found
5-29 L /f[ = to have certain infectious diseases or foetus abnormalities would be advised to have an
"l’g'f; r — ,‘f = shortion. Couples in these categoriea should have themselves sterilized.
10-14 1 [ P T s .
1
5-9
0-4 1 i
80 60 40 20 o6 20 40 60 80 Number (million) (Commenis on the drojt law)
[0 meto o] female Move to ban birth of China’s birth control plan
‘inferior people’ ‘not like Hitler’s’
199 According to & Beijing-based foreign China yesterday defended ils new drafl law as »
Age corvespondent, the new draft lw can be ‘natal and heaith care’ law. “The eascnce of the
8s compared to Naziasm - with ita search for a taw ia tolally different from the racist policy of
80-3-; perfect race, Adolf Hitler,” a public health spokesman said.
?,z'_;z Rose ‘Wi, general secretary of the Hong Kong “The essential content in health care for mather
65-69 Womesn's Christian Council, was also critical. and child and to ensure that China has heahhy
60-64 future generations.
55-59 - “In any society which respects human rights, the
50-54 L N choice of marriage and pregnancy belongs to “The law has pravisions which respect the right
45-49 i - H individuals, not the government,’ Mra Wu said. of individuals to make their own judgements,
40-44 e and reflects the principle of combining
e 35-39 L ,/ 1) ‘1 think it would be mere appropriats to tackle government guidance with individual choice,’
i) [ ! = > the problem through preventive meanures such the spokesman said.
;’g::: [ AV—/ 1< as education rather than through legisiation, ' she
15-19 | o T said. “China simply does not have the resources to
10-14 I ] - provids sdequate care for ila morc than 10
- 5.9 I v million disabled citizens,” the spokcsman
0-4 | e i e concluded. w2
80 60 40 20 0 20 40 60 80 Number (million) '
CC1 omate L1 fomale

Based on the phenomenon reflected in the two population pyrsmids above, disc hat implicati
this has for China’s society in the future. i ’ B
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In the Jight of the above data, explain whether you consider the Chinese government policy, as
reflected in the new draft law, is reasonable and worthy of support.
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SECTION 3 (Conventional Essay Questions} 125% of the module marks]
Angwer ore question from this section.
4.  The following extracts reflect Chins's attitudes to the media:

EXTRACT A - comments of the chief editor of a Chinese journal:

The chigf editor pointed ows that the role of the Chinese media was ‘to channal public opinion and 1o
serve the people and socialism’. :

Awmpapmmmqu create contraversy M;qka!pm.rukam;'umu

He denled that Beijing kad imposed strict political control on the mainland press, saying that ihe
aushoritles would only ban a publication If it violated government regulations.

‘Censorship on forelgn broadcasts war mecessary 1o screem out comtens wuch as violence and
rnography, ' he added. :

EXTRACT B - Chinese vesponse to (lie British Broadcasting Company’s (BBC's) docwnmhry on the
life of Mag Zedong which In a segment of the programme portrayed him as a8 man with a sexual
appetite for young women:

China's Fareign Ministry yesterday, in response o the BBC's documentary on the life of Mao, accused
the BBC of low moral standards, and threatened retaliation,

‘Mao Zedong iz a great historic person who is loved by tha Chinese people and respecred by the
people of the world, Any personal antacks launched against him with evil Intention and for the purpose
of humiliaiing him will not damage hiy historic poshion, ' the Chiness spokesman raid.

The depusy director of the New China News Agency (NCNA) in Hong Kong added, ‘Of course at a
greas leader he made some mistakes, bt nobody can wipe out his histaric achievemenis. [f anyone
attempis to criticize or even undermine his image at the time when we celebrate the 100th anniversary
of his birthday, all Chinese witl not accepe it.'

In the light of the sbove extracts, explain whether you congsider the Chinese Government’s criticism of the
BRC was justified. Based on your knowledge of the situation in Hong Kong, compare the Chinese
Government and the Hoog Kong Government with respect to their attitudes to the madia, 25%)
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in November 1993 the Chinese Communist Party (CCF) held its Third Plenum. The celmml i.s.fuc
concerned ‘the establishment of a socialist market economic structare’. The Plenum’s decision
emphasized that 'the public ownership system should remain the backbone of 'hf emnamy_{i. e, the
mainstay of the system)’. However, the decision also stated that the role of the public awnership system

‘might vary in different places and irades’.

Tn the light of what is happening in China today, explain why the CCP-made the above decisicn.  (25%)

In 'receut years, the relations W& China and Hong Kong have been gelling closer each day, Discuss how
China and Hong Kong influence each other in the areas of politics, culture and law. (25%)

i i i different in Hong Kong and
During the last forty years, attitudes to work and working sty‘lee hfve been very n

'Cll:ina‘.; How and why have these attitudes changed recently in China? In what ways and wh; are there still
differences in such attitudes between Hong Kong and China? (25%)

END OF PAFER
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